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Fes=l KA (ZYUAH R FEE 1 JEE 2 JEE 3 JEE 4 JEE 5 JEE 6 JEGE| T JEE JIEAL
1| 2046 |ABHE e | 700 4 20| AMRH| 2| 11m20 |+0.6| 11m25 |+0.2| 11m28 [+0.2] 11m50 [+0.9| 11m05 [+1.2]| X 11m50 +0.9 3
2 | 2367 |#m | pyay |BERRH| 3] 10m88 |+1.1| 11m27 |+1.7| 11m28 |+1.7| 10m98 |0.0| 11m36 |-0.3| 9m32 [+0.5| 11m36 -0.3 4
32036 |4 &E et ape | AfES] 3| 11m82 [+0.3] 12m05 [0.0| 12m10 [0.0{ 1Im85 |+0.7| 11m88 |+0.2| 11m93 |+1.2| 12ml0 0.0 1
4 | 2365 [dLl  WIBE| FpARTE | BERRE| 3| 1om74 |+1.7| X 11m92  [+0.4| 11m67 |-0.3| 11m55 |+0.5| X 11m92 +0. 4 2
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Fes=l KA [ZYUAH R 4 1 JEE 2 JEE 3 JEE 4 JEE 5 JEE 6 JEGE| T JEE JIEAL
1| 2043 |6 A&FFH=y 200 AMRES| 3] 8m78 |+0.9| 9m25 | 0.0| 9m33 [+0.1] 9ml5 |+0.2| 9m15 |0.0| 8m98 [+0.1] 9m33 +0. 1 2
2| 1715 (BAM MEFER7ST 2 —EF| 2| 8m81  |+0.9 X 8m86 [+0.8] 8m55 |+1.0[ 8m55  |+1.1| 8m65 |+0.8| 8mS6 +0.8 3
3| 1701 [MuFH  BEAGE| 4TS W% | —FE | 3 X X 9m28  [+0.3] 9m40 |+1.2| 9md48 |0.0| 9m33 |+1.0| 9m48 +1.0 1
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